Directions (1-25): What should come inplace of 9 (405%7x4)+ 6~ (8)' = (2’

e quesion mark (2) i th following questions? 6 ®5
1.26x9+ l64+65=132+2 © i
(@) 464 432 (©) None of these Y
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(&) None of these @ %4 ®8
2. 15% of 640 -16% of 750 =7 ©48 @36
@24 ®-16 (&) None of these
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| 3 (€) None of these.
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(€ None of these (©) None of these
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© 530 @650 ©769 @79
(€) None of these. (&) None of these,
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(c) None of these
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20. Zord ot Uorgag=r (e) None of these
15 s 30. Suresh consume 450 m of milk every day. How
(@) 216 () 222 many lvm of milk will he consume in two
@212 ccks
(€) None of these. u)um litee (6)6.7 litre:
(e} 12.3 litre (d) 6.3 lire:
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(@31 ®)27 {€) None of these
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(2) 54 days (0) 42 dA cover m 5 hmm ?
(c) 56 days (d) 46 days. (@) 360 (0)240 ks
(ebNrmeM\hu (€) 300 km, (d) 180 kms.
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reational activities. What is the total amount Dlghm ‘and bus fare of child is half the fare. n!am
‘she spend on travelling and food together ? ‘adult between the same place. What is the total
@)% 15,000 ()% 18,000 fare of 3 adults and 3 children same places ?
()T 12,050 (@)X 666 (b)T 448
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(€] None of these (c) None of these
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(¢) None of these:

. 163 pumps can empty a tank in 2 days by
working § hours a days. Then how many hours
a days must 4 pumps work (o empty the tank in

one day.

(@) 12 hours (b) 15 hours

(€) 18 hours @9h

(¢) None of these.

Direction (38-42) : /n each of these questions a

43. What s the difference between the number of
raduates and the number of post-graduates in

(b) 4500
) 4560 (@) 4600
(6) None of these.
44. What is the average number of post-graduates
inall the towns together
(2)16.250 (b) 15,500
(€)15.200 (@ 16000
(€) None of these
45. What is ratio of number of gmmmlci e

towns A and
el AF gt i
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question mark, you have to decide which of the (c) S40:709 (@ 769709

following symbol will come in place of the
question mark ?

(¢) None of these:
46 Whatis e o number ofgradiie andpost

Give answer 1Fin place of question aradusies i owas A, D ana Etogeih
mark (2 following will come (0 84500 B %020
a > (greaterthan) ©) 88,500 (@ 89600
. = (equal 1) (o) None of these
% /(1 than) 47. The number of graduates in town F
4 2 (e e mor gl approiicly it e ot of the e
B < i e than or equal t0) post-praduates in the same town ?
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Diretions (43-47) : Sty the following able

48. The product of two successive numbers is 855¢
‘What s the smallec number?
()94 (092
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(&) None of these.

49, Whatjs the least number (o be added t0 4321 44

Nember of Gradusies tnd Pos Geadutes
living in various Tow

Towns Graduates_ Post-Graduates
A 10200 000
25250 1800
c 15150 10500
b 2200 16250
E 20000 20000
¥ 16500 450
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(6) None of these
50. A 250 meters long train crosses a pole in
seconds. Whatis the speed of train in ki
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(&) Cannot be determined
(&) None of these
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